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RNk SECOND REVISION TEST - Feb. 2023

10 - Std. SCIENCE

Time : 3.00 Hrs. ‘ Marks: 75
T . e e
PART - 1
I. Choose the best answer. 12X1=12
t. Theunitof‘g isms2. ltean be alsm_xpns&u! T R ——
a) ems' b) Nkg* ¢) Nm’ kg d) em’§?
2. I Vi, Va VR be the velocity of blue, green and red light respectively in a glass prism, then which of
the following statement gives the correct relation?
a) Vs, = Vo= Vr b) Vi,> VG >Vr ¢) Vp,> Va >Vr d) Vp,< Ve >Vr
3. Inthe given diagram, the possible direction of heat energy transformation is ci.....oovvenreee
a) A B, A«C, B«C, b) A B, A »2C, B&C, 30gk
- £
o) A 2R 1 . ‘ 1V A N & _1_‘ N = - 1
¢ frequency, \\huh 1s '\ud:hlmn*f human €aris ...... R <+ ose - B c_ |
n.\ 50kHz b) 20 kHz ¢) 15000 kHz o) 10000 kHz
5. e isan important metal to from amalgam
a) Ag b) Hg c) Mg d) Al
_ 4(
6. In the nucleus of _ Ca |, there are ..........d.......
20
a) 20 protons and 40 neutrons b) 20 protons and 20 neutrons
¢) 20 protons and 40 electrons d) 40 protons and 20 clectrons
7. H + Cl » 2HCI,  isa.....4% R ...
2g)  T2Ae) (g)
a) Decompositiaon reaction h) Combination reaction
¢) Single Displacement feaction d) Double displacement reaction
8. Which of the following statéments isswrangabout detergents?
a) It is a sodiumdalt of long ehain fatty acids. b) It is sodium salts of sulphonic acids.
¢) The ionic part in adetergentig =80, Na™  d)ltis effective even in hard water.
9. Which is the correet sequenee of biooad flow
a) Ventricle - atrium~ vein - artenes b) atrium - ventricle - veins - arteries
¢)atrium - ventrigle - arteries - vein d) Ventricles - vein - alrium - artenes
1 0. Which nervous bandiconnects the two cerebral hemispheres of brain?
.':)Thalmuus b)Hypothalamus r,} Corpus callosum d) Pons
JODNA 158 ..t DN -
a) Veetor DNA b) Circular DNA ¢) Recombinant of vector DNA and desired DNA
d) Satellite DNA
> ‘Which softwaredsused to create animation?
a) Paint b) PDI c) MS Word 1} Scrateh
AR
: ) L TH Y= 14
Answer any 7 questions. (Question No.L2 18 compuisory :
1 3. Classify the types of force based on their application.
1 4 Wirite any two elements which are used for inducing radioactivity’ N
]
[ 5. Fill inthe bianks.
T r s sa r~nllesed
11 The component present in lessor amount, in a solution s 4111} 71 PR . :

i1} Solubility is the amount of solute dissolved is .......ccoe........g OF SOIVERL
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s solution of potassium chloride is added to an dqueous solution of silver nitrate, a

16. When an aqueon ! . L ;
1 i< formed. Give the chemical equation of this reaction.

white precipitate

‘17.Assertion and Reason: | | |
Asserlion : Deterpents arc more effective cleansing agents than soaps in hard water.

Reason : Caleiumand magnesium salts of detergents are watcr solution,

a) Aand R are correct, R explaing the A, b) Aiscorrect, R is wrong .

¢) Ais wrong, R is correct , d) Aand Rare correct, R doesn’t explains A.
18. Write the dental formula of rabbit.
19, Match the following

1) Autosomes - . Trisomy 21 /
i1) Diptoid condition - 9:3:3:1 e

iii) Allosome - 22 pair of chromosome

iv) Down’s syndrom - 2n

- 23rd pair of chromosome
20 State truc ot false, Correct the false statements.
i) The use and disuse theory of organs was postulated by charles darwin.
ii) Birds have evolved from reptiles
21.How are e-wastes generated?
22 How many electrons are passing per second in a circuit in which there isacurrent 0f SA?
PART - 111
Answer 7 questions : (Question No. 22 is compulsory)
23. Differentiate any four points of the eye defects : Myopia and Hypermeteropia.
24.1) What is co-efficient of real expansion?
i) What is co-efficient of apparent expansion?
25.1) Whatis a longitudinal wave?
ii) What is the audible range of frequency?
726.A is a reddish brown metal, which combines with Ogat <1370 kgives B, a black coloured compound.
At atemperature > 1370k, A pives C whighis red ineolour. Find A,B and C with reactio.
27. What is aqueous and non-aqueous solution? Give an example.
18 Differentiate : Aerobic and Anaerobig respiration.
20 What are the hormones secreted by(posterior fobeof the pituitary gland? Mention the tissues on which
they exert their effect.
30. How can menstrual hygieng bemairitained during menstrual days?
31.How is a cancer cel{@ifferent from anormal eell?
32.Find the percentage of nitrogen in annenia.

PART - IV

7X4=28
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Answer all the questions : -
33, What are the 1¥p@s of inertia? Give an example forcachtype.  (or)
8) What are the advantages of LED TV over the normai TV?
b) List themmerits oi LED Bulb.
34, Explaift the facorsimfluencing the rate of a reaction. (or) _ )
An organic compound *A’ is widely used as 2 preservative and has the molecular formula CyH40.
This compound reagts with ethano! to form a sweet smelling compound ‘B’
i) Identity the compounc "B '
it) Write the Chemical equation for its reaction with ethanol to form compound ‘B,
iil) Name the process.
35. Classify neurons based . n its structure.
( © {or)
a) Give the name of wheat variety having higher dietary fibre and protein.
b), Name the types of stem cells.
¢) What are transgenic organism.
o) Namg two maize hybrids ich inamino acid Iysine, .
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